7000 GeV pp Jets
a [ T I T I T I T I T | T I T I T I T I T | T I T I I T I_ g
045 — T
? 045 — Jet mass (anti-kT(l.O), 200< pT < 300, ly| < 2.0) 7 %
£004— w®m ATLAS e
O ~ : ]
S — --O-- Herwig 7.2.1 default I
g 035 —a4a— Pythia 8.308 default 7 9!
<’ - ¢ Sherpa 2.2.9 default =P
= B — M
- 19
0.03 — |
0.025 |— —
- 15
0.02 —®
- _|©
~ 18
- — <
0.015 [— =
— %
- —1.S.
0.01— —S
| 1<
H - g
0.005 8
~ 18
n L | H .
2 ; é 2
%) - B
S r .
l_
= B |
o 1
.0
"C-U' —
m —
0.5
P T T T N T T T T IR
0 50 100

Jet mass [GeV]



	Contents
	Page 1


